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201 LB-2E | 28,340 0 28,340
J| 14,170




2N AS =X
M MAE
cel: MAW 8

SPNEREY (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 14,170
01 At 22l 6,490 0 6,490
Oflger=&Hl] 3,970
OCYS-NET EE22 HMZ 2,000& = 1,0000H 2,000
J| 1,000
[ia 1,000
oJlIE2 MREE ¢ EUH 7Y
145,000& *» 63 870
J| 435
[ia 435
O&EAZe EAES, AE2F +Y
100,000& * 6& 600
J| 300
[ia 300
OANEEH |X ¥ =&H8 500,000&8 = 13l 500
J| 250
s 250
Ol=&Htl] 2,520
O CYS-NET &g & 0f2t2F Z &l
7,000 * 15 = 201 x 123 2,520
J| 1,260
[ia 1,260
02 2324l 600 0 600
OCYS-NET 2323 (&3at) 50,000& = 123 600
J| 300
s 300
03 A2 Z Hl 21,250 0 21,250
ORAJI¥E NABZ 6,000,000& = 13l 6,000
J| 3,000
s 3,000
ORIIEBALEESSIE deldA
20,000& = 100¢! 2,000
J| 1,000
[ia 1,000
OfIJIBAEESRE MO, A
1,000,000& * 23] 2,000
J| 1,000
[ia 1,000
OfIIIBAEHE Rl NEX &d
1,500,000& = 23] 3,000
J| 1,500
[ia 1,500
OO0t 0l S 4 & (out-reach)
1,200,000 = 33 3,600
J| 1,800
s 1,800
OfIDIEAYE 282X & AN &
1,000,000& * 23] 2,000
J| 1,000
[ia 1,000




R E
L -PNERC
o9 Had

Hiod 24 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORAJNB2E NESAMAL s
1,325,000& = 23] 2,650
J| 1,325
e 1,325
202 o4dl 1,880 0 1,880
J| 940
fia 940
01 = LH o4 4l 1,880 0 1,880
OCYS-NET =208 XSl
20,000 = 201 » 41t= » 8 1,280
J| 640
[ 640
O&E® o4 o 34 &0yl
120,000& * 53l 600
J| 300
[ 300
Al Z2NSHERH 41,500 0 41,500
201 Lt 41,500 0 41,500
03 A2 Z Hl 41,500 0 41,500
OMINEZZ)H2H 500,000 * 191t= 9,500
OHEAUEZ30tY 2,000,000& * 53] 10,000
OFAUEENE 208 29
3,000,000& * 13l 3,000
OF3AYE XNYPHMESOtel 29
1,500,000& * 103l 15,000
Odzzd=E =278 29 2,000,000& * 12 2,000
O34 dis & SHU us
1,000,000 = 23] 2,000
FAUMEHH 29X& 64,000 0 64,000
< 19,200
e 44,800
101 124 dl 49,783 0 49,783
< 14,935
e 34,848
4 JI2ZtHZ22HEE =+ 49,783 0 49,783
Odgd =0 1,100,000& =« 201 = 12& 26,400
< 7,920
s 18,480
Oyg® Jlgsy
1,100,000 * 1/2 = 221 * 23| 2,200
< 660
s 1,540
O&YH FHZAH 110,000& * 22! = 123 2,640
< 792
e 1,848
OdE& IHAXNHE, EEFIHI
1,100,000& = 2¢1 = 3.5& 7,700
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=

i
2m

206,750& * 43|

Mo

Mo

300
700

827

248
579

202 044l

UL

1,880

564
1,316

1,880

01 SLHOYI

OdEd T28 JdHAN
20,000& = 221 » 410t= + 8&

O
b
00
10
e
1

=)

ALY F404

120,000& * 53]

bl

EURLY

M

1,880

1,280

384
896

600

180
420

1,880

US|

144,591

71,296
1,000
72,295

222,991

AT8,400

08
0]
b
i
1
¥
>
x
[H
Hy
IJ
0g
Ao
02

Il

HJ

2,000

1,000
1,000

2,000

307 21201 A

Jl

HJ

2,000

1,000
1,000

2,000

H X

2,000

2,000

1,000
1,000

2,000

HH

142,591

71,296
71,295

142,591

MW

64,517

32,259
32,258

64,517

04 It 22 XS+

OFAEXEM (0
1,630,000& = 32!  12&

O
o
b
i
=
i
>
10
1o
o MW
s

S
S

L {0
0 4

*
w
e

*
I
1o

Lo+ 128

M H

M

64,517

58,680

29,340
29,340

5,837

2,919
2,918

64,517
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2N
X ZH -
L= B
el

At = X ot

PNERCT TRV

FAadE NFEZ20Y 24

Mo

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
201 LBt | 38,978 0 38,978
- 19,489
= 19,489
03 A2 HH| 38,978 0 38,978
OY S 02140 E2 089 2 AtY|
500,000& * 61t= ~ 108 30,000
= 15,000
= 15,000
Ot =02I4I0 E20ded 3|
597,800& = 103l 5,978
= 2,989
2 2,989
OB D0IIIEIDl Ol HMEBS
3,000,000& = 13 3,000
= 1,500
o 1,500
202 o4 | 3,600 0 3,600
= 1,800
= 1,800
01 2Ll 3,600 0 3,600
OOIHOIXNER T2 IHFSNL of ]
20,000 * 3021 = 52 * 8= 2,400
= 1,200
2 1,200
OXEA S22 438 F4 ol
120,000& = 103/ 1,200
= 600
o 600
307 giztol A 35,496 142,591 A 107,095
= 17,748
= 17,748
10 Al EXE X 35,496 142,591 A 107,095
Oer=0t2t4I0l ots=24l X
3,426.259 * 40Q! % 259! 35,496
= 17,748
= 17,748
FHoNE Ols 253 3,041,937 3,029,737 12,200
= 913,874
= 675,129
& 736,535
= 716,399
NEOS2S 759,163 759,163 0
= 505,419
&< 161,877
= 91,867
OISMBAL 2HBL 5,040 5,040 0
202 o4l 300 300 0




SH: AS =X D
Ha: oS oS 2
Sl ANE0ERS

fol

(o
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
01 2L Hl 300 300
OO0s=SXAIE NE=&EZ oYl
20,000 = 15 300
301 et A= 3,600 3,600
01 Al E & A 46 2 3,600 3,600
O FEXA=Z 30,000& * 509! = 23| 3,000
OFHY MY E HELAZ
30,000 = 10Q! * 23| 600
307 212t0| & 1,140 1,140
10 Al S X2 X 1,140 1,140
OOs=2XAIE SAML sEHA
30,000 = 621 x 33| 540
O Ols g3 EFAA3H A&
600,000&¢ * 13| 600
AMEOtS NS 2X & 3,000 3,000
& 1,500
= 1,500
307 QI2t0| & 3,000 3,000
= 1,500
= 1,500
MNIEXEX 3,000 3,000
OAN&EOtsS testx &= 1,000,000& * 3¢l 3,000
& 1,500
= 1,500
AMEOIES MESESE 18,800 18,800
& 9,400
= 9,400
307 2Iz2t0| & 18,800 18,800
o= 9,400
= 9,400
10 Al X2 X 18,800 18,800
OAEOE MEEE
19,583.3333& * 802!  12& 18,800
& 9,400
= 9,400
A0S MZEE F2¢ 17,760 17,760
= 8,880
= 8,880
307 212t0| & 17,760 17,760
o 8,880
= 8,880
10 Al EXE X 17,760 17,760
OAEOES MEE 2¢
19,733& x 75021 x 12& 17,760
= 8,880
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SH: AS =X D
Ha: oS oS 2
Sl ANE0ERS

fol

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

HJ

8,880

0x —
0z
K
(=]
>
w
0z
J
oy

4,500 4,500

2,250
2,250

M H

307 21201 & 4,500 4,500
2,250
2,250

UL

10 AFRIS X2 X 4,500 4,500
O8&1N0 HESIFEHS 1,500,000& = 3¢ 4,500

2,250
2,250

EUNE

OtSSXAIE SN S84 24,000 24,000
24,000

H

307 glztol & 24,000 24,000
24,000

H

10 Al SXI2X 24,000 24,000
OO0ts=XAIE SAX

g
9

_J'\_
,955

{0 00

QI

x 2301 * 129 24,000
24,000

H

OtsS=XAIE 2dH K& 677,763 677,763
503,169
112,822
61,772

M AL

307 glztol & 677,763 677,763
503,169
112,822
61,772

M H AL

10 Al SXI2X 677,763 677,763
OO0ts=XA4E 2g8 X&
56,480,250% = 129 & 677,763

503,169
112,822
61,772

M HE

,500 4,500
,250
125
125

- N~

H M A

307 21201 A ,500 4,500
,250
125

125

R NN

M AL

10 AFRISXIEX 4,500 4,500

2
OfA0ts NHEEEHS X

K

1,500,000 = 39! 4,500
2,250
1,125
1,125

M A




L AEI=X
2 ot

ni;
s =2
2

D ANEOEES

fol

SN FH-SA(EN) - MBAY - BES

=

i
2m

H0ls s &yl 1,800 ,800
& 900
s 900
307 21201 & 1,800 ,800
& 900
= 900
10 AFBISXIE2X 1,800 ,800
OAlZ0ts #=30i&H| 100,000& = 18¢! 1,800
< 900
a 900
AE0tEs W=l 2,000 ,000
o= 1,000
a 1,000
307 glztol & 2,000 ,000
= 1,000
G 1,000
10 Al SX2X 2,000 ,000
OAE0ts W=7l 200,000& » 10¢! 2,000
& 1,000
= 1,000
Sots=X 2,282,774 574
= 913,874
= 169,710
< 574,658
= 624,532
4 RAEIHE Ot K& 5,580 ,580
301 et 4= 2,580 ,580
01 A2l 28X =062 2,250 ,250
OaxdAHIIE & A0S F2HAX R
90,000&  25A CH 2,250
10 HALAHI 24 = 330 330
OZEHOHE0 HAUEZE & AANSFAZ L
50,000& = 32! 150
OJNELAE0S HAFALLE 30,0008 * 62! 180
307 21201 & 3,000 ,000
10 AFRISXIE2 X 3,000 ,000
OABEAHIE ME2AtE AL
3,000,000 13 3,000
LESOISEEARNISA 38,498 38,498
= 26,948
& 5,775
= 5,775
301 gEtE A= 38,498 38,498
= 26,948
& 5,775
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2N
X ZH -
L= B

el

ts 2

=X

2 >

T

in =

o oy =

o &
o

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2m

HJ

5,775

gHxol3 38,498 38,498
[EN R
20,968.4095& = 153¢! 123 38,498
26,948
5,775
5,775

®
j=}
o
[l
o
Pl
0
o)

EURL Y

2EHAHIE ¥ ASE0SAHU RIZ22 X 14,400 14,400
7,200
7,200

EUNLY

301 2ELE A= 14,400 14,400

7,200
7,200

M H

01 AR 2&2H =63 14,400 14,400
OaxdAIIE & A0S MUAZ=S
20,000% = 60Q! * 12& 14,400

7,200
7,200

M

-

A2EAHIE R AE0SHU EE M= 6,000 6,000
3,000
3,000

EURLY

301 fELE A= 6,000 6,000

3,000
3,000

VR

01 Al 2&H =62 6,000 6,000
OadAHINE & ASESAHU EE M=t
50,000& = BOAMICH * 22 6,000

3,000
3,000

EURLY

2EAHIE R FE0S HedS s X 5,000 5,000
2,500
2,500

M

301 gEtE A= 5,000 5,000
2,500
2,500

UL

01 Al 2&8H =062 5,000 5,000
OAHAHIE E AS0S Hetdst k=
1,000,000& = 5¢! 5,000

2,500
2,500

EURLY

b
i
b
i
=)
0

ESHXA 2,400 2,400
1,920
240
240

A

301 gEtE &= 2,400 2,400
1,920
240

AL
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SN ALSI S X
M HAHES Ot BS
thel: HASOotsS =X
= _ — SHE|
SA - BB B (BA) - MM - BHES Ol &+ o4 e
o 240
01 MEIBEE 263 2,400
OENSENEWI PSP 100,000& * 2Q1 = 12& 2,400
&2 1,920
< 240
s 240
Fsasx 68.400
=2 54,720
< 6,840
s 6,840
AotB A= 68,400
= 54,720
< 6,840
[ia 6,840
01 MeI2ZE 06z 68,400
OMNFEIsLEXA
100,000& =« 57¢1 = 12& 68,400
=2 54,720
< 6,840
s 6,840
B0l o2z X& 5,811
= 4,067
= 872
s 872
AU A F 5,811
= 4,067
< 872
[ia 872
01 MI2ZE 6= 5,811
OJEREOS &2 K&
70,012.0481& = 832 5,811
= 4,067
= 872
s 872
A0S 2s5+E X 18,035
= 12,625
< 2,705
i 2,705
AU A F 18,035
= 12,625
< 2,705
s 2,705
01 MI2ZE 6= 18,035
OYYNIE YRS
150,291.6666& * 1021 * 12& 18,035
= 12,625
< 2,705
s 2,705
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SN ALSI S X
B FKE O 25
thel: HASOotsS =X
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
s E 28 Ots=44 XA 206,625 206,625
< 206,625
307 glz2tol & 206,625 206,625
< 206,625
10 AtSI =X 2 X 206,625 206,625
OsIIE £E.22Y ots 244
3,000& = 725Q1 » 95 206,625
< 206,625
gsrE Otssa N 230,963 230,963
&2 112,523
< 75,060
s 43,380
307 glz2tol & 230,963 230,963
=2 112,523
< 75,060
s 43,380
10 AtSI =X 2 X 230,963 230,963
ogsts ols=4 X
3,000& = 1,112Q1 » 69.23352 230,963
& 112,523
= 75,060
e 43,380
Z2A0ts 24d X& 1,094 1,094
=2 547
< 274
s 273
307 gl2tol & 1,094 1,094
&2 547
< 274
s 273
10 AtEI =S X2 X 1,094 1,094
OZAlots =4l X
2,997.2602& = 12! = 365¢ 1,094
& 547
< 274
s 273
NGotsdH sa XA 304,000 304,000
< 16,800
s 287,200
307 glz2tol & 304,000 304,000
< 16,800
s 287,200
10 AtEI =X 2 X 304,000 304,000
OXYots4dE A8 XA
3,000& = 293.333¢2! » 250 220,000
OXNYots4dE 2tAHl XA
1,166.6666% * 30021 * 240 84,000
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SN ALSI S X
M HAHES Ot BS
el MASots=X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 16,800
s 67,200
ANeotsdye 243 X& 11,000 0 11,000
201 24l 6,000 0 6,000
03 A2 Z Hl 6,000 0 6,000
OAZIEXIAIE BALA HRN=E
6,000,000& * 14! 6,000
307 glz2tol & 5,000 0 5,000
10 AtSI =X 2 X 5,000 0 5,000
OXgotsHE stotsShHal X
5,000,000& = 13l 5,000
NEotsdEy 2 X 872,020 872,020 0
= 436,010
< 218,005
s 218,005
307 gl2tol & 872,020 872,020 0
= 436,010
< 218,005
[ia 218,005
10 AtEI =X 2 X 872,020 872,020 0
OXgots4H Jla=2Il
3,800,000 = 18K * 123 820,800
= 410,400
< 205,200
s 205,200
ONE , S=38g XIotsdH 2l
18,820,000& * 1JH A 18,820
= 9,410
< 4,705
e 4,705
OXgotsHdH EQ2IH
150,000& = 1802 = 123 32,400
= 16,200
< 8,100
s 8,100
ANE0otsdE Ots=X WAXA 190,800 190,800 0
= 133,560
< 28,620
s 28,620
101 @14 Hl 190,800 0 190,800
= 133,560
< 28,620
s 28,620
04 JIZHZ2Z2XREES 190,800 0 190,800
OOt==XIWAF 2124H]
900,000& = 15¢Q1 = 12& 162,000
= 113,400
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2AM: M=KD
ZE: HANE O 25
©@H2: MASOoIsS (&2 &)
CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
= 24,300
= 24,300
OOts=X WA AlIEE8E & g8 A=
160,000& = 1501 * 12& 28,800
= 20,160
< 4,320
= 4,320
eIl HEOS Aexzs A& 948 948 0
= 664
< 142
= 142
948 948 0
= 664
== 142
= 142
=0l 2 948 948 0
H?EOs AeXs X&
79,000 = 102 = 12& 948
= 664
& 142
= 142
CEAEIE dH 29 300,000 300,000 0
= 300,000
80,280 75,415 4,865
= 80,280
04 JIZtHI22XNSE S 80,280 75,415 4,865
MI2olg oAy
1,550,000& = 3¢ x 12&€ 55,800
=2 55,800
Mo 4fEEE W SRS
390,000& = 321 = 12& 14,040
= 14,040
HM2oldy G2 MEIA oY
20,000 = 391 %= 8 * 12& 5,760
=2 5,760
deols Alztel 4g
6,500 * 20Al2t = 321 % 12& 4,680
= 4,680
2Bt 2 A H| 74,100 84,200 A 10,100
= 74,100
22l gl 37,640 43,440 A5,800
Bt EH| ] 19,940
OCEEAEHE HdH 285 € 222 H&ER2Y
700,000 = 12& 8,400
= 8,400
EtEHMEH 29H| 250,000& = 12& 3,000
= 3,000
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SN ALSI S X
B FKE O 25
el MASots=X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEEHAEBHEAMNY A2UE WSH
120,000& = 32! = 33 1,080
= 1,080
OAtdlZeld=2es Ns&4A HHl
120,000& = 52! = 33 1,800
= 1,800
OSEHEEANAE ctoldA 2
620,000& 14! 620
= 620
OEEHAEE H2F& S EH|
7,000 = 32 * 20 « 12& 5,040
= 5,040
O [2E€=¢] 11,700
OCEYHAEHEHWH 2223 ¥ FHHOIN
o4 =g 100,000& * 1521 * 33 4,500
= 4,500
OLZZIOY s LMY
100,000& * 621 » 12& 7,200
= 7,200
O [gxzg] 6,000
OCLZINHEFWA 2EXE SX=
500,000& * 123l 6,000
= 6,000
02 2324l 8,460 8,760 A 300
o222 ¥ HMAl 6,000
OCEHAEHEWEH 3323 % MASHS
500,000& = 123 6,000
= 6,000
O[AM&EbH 2Xdl] 500
O SYHAEEHMH A&ZEH SXHl
100,000& * 53] 500
= 500
O[Xrg& el ] 1,960
OEZAEEHNH UHERFUH
130,000 * 123 1,560
= 1,560
OEZAEEHNH XE4&HI
100,000& * 43 400
= 400
03 A2 S HI 28,000 32,000 A 4,000
O=RsME 8 T2 N2
4,000,000& = 63l 24,000
= 24,000
OAZ&EEs & 4203
4,000,000& = 13l 4,000
= 4,000
202 044l 10,800 8,400 2,400
= 10,800
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M AR =X
M HAHES Ot BS
22 MASOos=X (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH o4 1l 10,800 0 10,800
OEEHARE s & 22d=ZF ¢l
120,000& = 321 = 63l 2,160
= 2,160
OEHAEBEMY 2UHEE WY
20,000& = 3¢ * 12 » 123 8,640
= 8,640
206 M= Hl 13,520 9,600 3,920
= 13,520
01 =8l 13,520 9,600 3,920
OLEEARE T8 W3 2¢
3,920,000& * 14 3,920
= 3,920
OEEAHRE T2 M=l
10,000& = 802! =123l 9,600
= 9,600
301 L2 LS 11,760 70,800 A59,040
= 11,760
10 HALABIEAZ 11,760 45,360 A 33,600
OZ2d 0/E0ts 2tAaldl
3,000 = 352! = 63| = 12& 7,560
= 7,560
OXNESALA &3 Al
20,000& = 72! = 303l 4,200
= 4,200
307 izl & 104,540 46,585 57,955
= 104,540
01 2L =4l 36,000 45,000 A9,000
Og4rE & ots 242 AtZHI
120,000& * 300¢! 36,000
= 36,000
06 23 1,040 1,585 A 545
O0IEX o288 = 1,040,000& * 13/ 1,040
= 1,040
10 A2l S X2 X 67,500 0 67,500
OJlzss % SII8Y W=sH X
35,000& = 1008 » 128 42,000
= 42,000
OAMg=sI2 T2 29|
3,000,000& * 62l 18,000
= 18,000
O0ts M XA 25,000& = 3009 7,500
= 7,500
405 RHoHF S HI 5,000 5,000 0
= 5,000
01 AL EZFH S 5,000 5,000 0

_29_




SN ALSI S X
M HAHES Ot BS
thel: HASOotsS =X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLESEAEEHH &I € HIS 7Y
5,000,000& * 14! 5,000
= 5,000
Orssttioeg & 25X 1,200 0 1,200
201 L4l 1,200 0 1,200
02 =224l 1,200 0 1,200
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ORN2E SUNY 2,640,000& * 14! 2,640
202 oddl 5,940 5,940 0
01 = LH o4 1l 5,940 5,940 0
ORN2Y SUAHL 20,0003 = 32! » 99 5,940
CEAEEZZ A 11,869 0 11,869
201 £B-2dH| 8,989 0 8,989
01 At 22/l 8,989 0 8,989
Olger2al] 3,108
ORAN2YE SHAH& 1,554,000& * 2¢! 3,108
Ol=&Hl] 5,881
ORMN2E SHUAY
7,000& 2021 » 7 * 128 5,881
202 oddl 2,880 0 2,880
01 = LH 4 Hi 2,880 0 2,880
FN2E U
20,0003 = 22! = 6 = 123 2,880
MEES(AZSX ) 100,000 100,000 0
HEHHK = 100,000 100,000 0
HegdIIza =4 100,000 100,000 0
702 JIS3HES 100,000 100,000 0
01 JI3dE= 100,000 100,000 0
OHdeEIIg MES 100,000,000& * 13l 100,000

_44_




